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POLITICAL SCIENCE
( Major )

Paper : 5.6

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

GROUP—A
( DEMOCRACY IN INDIA )

1. Answer any three of the following : 10x3=30
wos TAIRE e fofior Teq firt -

(a) Discuss the causes for the development
of democracy in India.

SRGIHS Slogd REPR FET T D
41 |

(b) Write the impact of colonial legacy on
the political system during post-

Independence.
wATed S0 G IES SAMEF TR
AO[ = & |
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(2)

(c) Discuss the reasons for the growth of
regional political parties in India. What
are their contributions in making
democracy stronger? Give your opinion.

TRede WHRE IEAfes weR  Geeffed
FRPAR 11 | SREIHS siezs e <o
(SEARA AT T (INE T3 S15€C0HE] |

(d) Discuss the characteristics of liberal
democracy. Is India a liberal democratic

country? Discuss.

TR SeEd (IFEPTR SICEe 9 | SReTy
@3 T SereIfEE B 2 SCEAnAl 4 |

(e) Analyze the concept of election. What
are the roles of Election Commission in

India?
fdmeR qRees e 911 SReqq Ao
e S TS N |

(/ What do you mean by Universal Adult
Franchise? Give arguments in favour of
Universal Adult Suffrage.

AEAl AR CSongeR Ierca 3w
AL AGTTE  COBIEPRT e e
IACOIET |
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(3)

2. Write short notes on any three of the
following : 5x3=15

ot e A e fofem vy G fora
(a) Representative Democracy

sfefFfaeyee sITog

(b) Civil Disobedience Movement

HiZA S SR

(c) Marxist Theory of Democracy
TS VT ©F

(d) Hare System

@R s

3. Answer the following questions : 2x4=8
G 2PCIRT e e

(a) Give two differences between Procedural
and Substantive Democracy.

i WIF (AR serog 151 = |

(b) Point out two major challenges of Indian
democracy.

SR 5TOF 01 24T SROIRT TeEs T |
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(4)

(c) Mention two causes for the failure of
Sepoy Mutiny.

foor®l fRcurzd Reerer) 701 3 Sas 41 |

(d) Write two characteristics of Pluralist
Theory of Democracy.

@Al SIToF o1 CIFET fora |

4. Answer the following as directed : 1x7=7
woe fAIRR fFiotrEm Teq fin
fa) Who was the author of the book, The
New Democracy and the New Despotism?

The New Democracy and the New
Despotism 7N 22471 o/ @1 2

(i) Abraham Lincoln
S fer

(@ J. S. Mill
. 9%, =
(iii) Charles Merriam

oI5 A

(iv) Maclver
REIETC]
(Choose. the correct one)

(e TaaChl 1R Shiean)
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(S)

(b) “Democracy is unfriendly to the growth
of knowledge.” Who said this?

‘e PR el Teg g d =7 @A
ofeet 2

() Give one reason for the success of
Bharatiya Janata Party in 2014 Lok
Sabha Elections.

3058 51 ETe oo sRel el “iva
A9 5l IR SrEY 9 |

(d) How many seats are reserved for women
in Lok Sabha?

ERTeNe WREN FEERS SPFE R 9 2

(e) “Communism is the highest stage of
socialism.” Who said this?

R (X ERRAME N 817 G
et 2

(i) Marx / =5

(i) Joseph Schumpeter / (ICHF CF=*OR
(i) Bernard Berelson / I+6 (CIe6

(iv) Almond / N9
(Choose the correct one)

(m Teaco! AR Sferean)
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(6)

(/ Who appoints the Chief Election
Commissioner of India?

SReAs 341 DAl S @ e 01 ?
(g9 What is the meaning of the word

‘psephology’?

‘o = 9y 2

GROUP—B
( HUMAN RIGHTS )

Answer the following as directed : 1x7=7

oS AT e e fra

faq) Human Rights are conditional.
TR SRRIHZ TS |

(Write True or False)
(o= s fera)

(b) The basic principle of French Revolution
were liberty, equality and A

Tl Rz e wifks F@mel, swer o

(Fill in the blank)
(10 7% =1 F40)
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(7)

() Where is the Head Office of the UN
Commission on Human Rights located?

AR AR SR SR 30 PR TS
FS ?

(d) In which year was the Amnesty
International awarded the Nobel Peace
Prize for the first time?

@ 5O TR TORGICTES AXR XM
T°7]e {01 o 41 (R ?

(e) Marxists believe that rights are the
products of capitalist society, which are
designed to maintain the privileges of
the ruling class.

TR e 9@ @ SRR SR
e W, Rikere *mReeiaE 7Y RfEFe IR
“[R1C3 o6 fra Cem |
(Write True or False)
(W 1 Sr9% o)
(/ What is the full form of CEDAW?
CEDAWS s7ojdf eied! % 7
(g) In which year was the Human Rights
Watch established?

Human Rights Watch (¥ 5 sifed <1
Cafeet 2
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(8)

2. Answer the following questions : 2x4=8
O SPPTYRS B e

(a) What is the International Bill of Human
Rights?

WIRSIZ Ta SdeE Reews 59

(b) Mention any two characteristics of first
generation Human Rights.

AW oo A WA R e w5 g
T 4

(¢ Mention two principles of the
Convention on the Rights of the Child,
1989.
>3y BT FRYT SR oy wveaRfEa o1
S Sz w41 1

(d) Mention any two areas of concern of
Amnesty International.

3. Write short notes on any three of the
following : 5x3=15

ST FRIea R reen RfR5m 53 o foray -

(@) Third Generation Human Rights

PO s e SRR
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(9)

{b) International Covenant on Civil and
Political Rights (ICCPR)

TR oI efes SR SReaign piesa
(ICCPR)

(¢) Human Rights Watch
T+E PR AR

(d) Significance of the UDHR
TR SR STEA Reeas oeed

(e) Convention on Elimination of All forms
of Discrimination Against Women

TR RFra FECEARR [EN RIS A
Seffa

4. Answer the following questions : 10x3=30
o PR e fu

fa) What is Human Rights? Discuss the
basic characteristics of Human Rights.
T iR 2 T wiReRs @ QR
HICeATT 90

Or/ |41

Why do the cultural relativists oppose
the universalistic approach to Human
Rights? Discuss the various arguments
forwarded by the cultural relativists.
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(10 )

e SeeifreeRmPeeE A
TRPRY ALEA  GESACsl WY A9 ?
MEFeF  SAFFFORMPIRE SIS
&2 ACADAT 7 |

(b) Mention the Human Rights’ provisions
found in the UN Charter. Discuss the
role of the UNO for the development of
Human Rights.

BT T WA SEFE AR qrawigal
TEy 9 | I SR [Rerre g g
Al 1 |

Or / H241

Critically analyze the Marxist
perspective on Human Rights.

RICE 0 M e G R -1 S O D B
SIS (90" 47 |

(c) What is Amnesty International? Discuss
its functions.

@A FORE0EE 7 TR FERE s

<4 |
Or / <7

What is International Human
Rights NGO? Discuss the functions
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(11 )

of International Committee of Red Cross
as an International Human Rights NGO.

T4 TR SR @Al e f$ 2 W9
IRPRT BB @Rl w2
TORCGHEE  FRG S @ @xd  FHEEl
ST 40 |

* k%
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